Business Attitudes, Practices, and Governmental Efforts
Enabling Industrialists to Thrive 

Laissez-faire philosophy 

This is an economic doctrine outlined by Adam Smith in his work, The Wealth of Nations that was popular during the industrial age. It opposed government regulation or interference in commerce beyond that which was necessary for a free-enterprise system to operate according to its own economic laws. In the modern age, Bear Stearns’ debacle on March 16, 2008 was seen by critics of modern finance as the inevitable consequence of the laissez-faire philosophy that allowed financial services to innovate and spread almost unchecked.

Social Darwinism 

This philosophy applies Darwin’s theory of evolution to social conditions.  This theory held that the strongest and fittest (in other words, the rich and powerful) showed through their very success that they were best adapted to the social ad economic climate of the time.  The weak and unfit (in other words, poor and less powerful) had demonstrated that they could not adapt and should be allowed to die off.  Not surprisingly, this theory was promoted by wealth Americans, who argued further that it was normal, natural, and proper for the strong to survive at the expense of the weak and it would be wrong to interfere with natural selection by artificially propping up poor people through social welfare programs. The theory was also used to justify big businesses’ refusal to acknowledge labor unions and similar organizations.

Government assistance for railroads 

United States government assistance of railroad construction between 1860 and 1900 enabled commerce and industry to boom.  But, building a railroad was an expensive venture. Private banks, fearing the railroad companies would need a long time to pay off their debts, were reluctant to loan money to the companies. To remedy the situation, Congress provided assistance to the railroad companies in the form of land grants. The land grant railroads, receiving millions of acres of public land, sold the land to make money, built their railroads, and contributed to a more rapid settlement of the West. In the end, four out of the five transcontinental railroads were built with help from the federal government.  Even today, the railroads and the towns they founded continue to shape the geographical and economic landscape of the American West.
New forms of business organization 

Trusts: This is a form of business merger in which the major stockholders in several corporations turn over their stock to a group of trustees.  In other words, separate firms (corporations) are placed under a single control.  Reflecting the belief that trusts interfered with fair play, the government passed the Sherman Anti-Trust Act in 1890, which made it illegal to form a trust that interfered with free trade.

Monopolies: Corporations are considered to be a monopoly when they control an entire industry or nearly (80% or more) of an industry.  For example, if there was a company that controlled 95% of the world’s oil, then it would considered a monopoly.  Generally, monopolies are considered bad for the economy and for consumers (customers).  The reason they are considered bad is because they can charge any price they like and people are forced to pay that price.  For a supply such as oil, this is especially bad because so many people and businesses depend on it.
Vertical Integration: Vertical integration occurs when a company takes over and becomes the owner of its suppliers, distributors, and transportation systems to gain total control of the quality and cost of its product.  In other words, you control the whole process, from the extraction of raw materials through manufacture and distribution.  This can also be described as a cartel or, in some cases, a monopoly.  This type of business practice was used by Andrew Carnegie, as he purchased iron mines and railroad companies in order to keep his costs of production lower.
Horizontal Integration: With horizontal integration, companies that make similar products merge into one. This also can become a monopoly because it can eliminate competition.  Imagine how much a fast food cheeseburger might cost if McDonald’s, Burger King and Wendy’s all merged into one giant super fast food company…w/out any competition, the price will likely go up to get a fast food cheeseburger. This type of business practice was used by John D. Rockefeller. 

Economies of scale

This refers to the economic principle that large plants (factories) can produce at a lower cost than smaller competitors because the cost per unit falls as the volume of output rises.  The effect of economies of scale can be seen in the purchase of consumer goods.  If you are buying a small quantity of Advil at the corner store, it would cost more per pill than if you bought the large two-bottle quantity offered at Costco or Sam’s Club.
Economies of scope

This refers to the economic principle that large plants (factories) can use many of the same raw and semi-finished materials and intermediate production processes to make a variety of different products.  For example, McDonald’s can produce both hamburgers and French fries at a lower average cost than what it would cost two separate firms to produce the same goods. This is because McDonald’s hamburgers and French fries share the use of food storage, preparation facilities, and so forth during production.
 

